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1. EEIERDED

(1) BB
Sy 6,864,000 5,216,000 12,080,000
FHUESESBINA 3,980,000 3,980,000 7,960,000
SECEASEASEINN 245,000 105,000 350,000
FHCEASEBSELNA 882,000 378,000 1,260,000
SMEESESREINA 1,092,000 468,000 1,560,000
SHEHSESEINA 665,000 285,000 950,000
ESETIERS 12,593,000 0 12,593,000
SZEUEER] 1,670,000 0 1,670,000
SZEULER 720,000 0 720,000
ZHUERFT NS 620,000 0 620,000
SZERSHNR 5,193,000 0 5,193,000
EENERS S 4,390,000 0 4,390,000
SRR RN 0 0 0
SHHIESE 0 0 0
Y NISIERE 0 0 0
ZHEEE 0 0 0
Y NISIERE 0 0 0
THETE 0 0 0
Y NISIERE 0 0 0
HEUNZR 0 260,000 260,000
T NIERIEE 0 260,000 260,000
R 19,457,000 5.476,000 24,933,000
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(2) mesim
ESE 21,468,964 21,468,964
HE RN 0 0
Y SE] 1,088,000 1,088,000
RFESE 850,000 850,000
RIS T E R 84,000 84,000
ETE RIS 101,564 101,564
fEHEEE 0 0
=& 68,000 68,000
REXBE 542,000 542,000
BEEE 110,000 110,000
SR E RN E 2,400 2,400
B2 EmE 0 0
SHFEmE 190,000 190,000
LEERE 0 0
FTRIXEE 0 0
(B 0 0
SR N 266,500 266,500
RRIE 0 0
SEEKRIE 0 0
&En 2,011,000 2,011,000
I —X# 0 0
[EETS! 0 0
ESEIR 375,000 375,000
LN 0 0
SINEEE 500,000 500,000
X 3hBhBkE 0 0
SN RS 100,000 100,000
&EitE 14,731,972 14,731,972
ZIAFERL 0 0
Bz ERE 0 0
ME 448,528 448,528
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EFEES 3,464,036 3,464,036
1= E RN 0 0
WBRIFES 272,000 272,000
fEEESD 0 0
BIES T ER 21,000 21,000
ETEEFIE 25,391 25,391
EHEEE 0 0
e 54,000 54,000
REEE 579,000 579,000
BEERE 15,000 15,000
RiE & 600 600
EFEM 2 EmE 0 0
SEHFEmE 8,000 8,000
LEERE 0 0
EXEE 0 0
EFEEE 0 0
A EES 116,000 116,000
AR EE 0 0
FEBIKEIE 0 0
=] 240,000 240,000
I —E 0 0
1RIRRY 0 0
e 0 0
FEFTNER 0 0
ZiBilHE 10,000 10,000
ZINEhRkE 0 0
ZINERE 700,000 700,000
HitE 1,326,000 1,326,000
INFER 0 0
ZIFE 0 0
Bz ERE 0 0
ME 97,045 97,045
AR 21,468,964 3,464,036 24,933,000
ST E e 5 e e B SRR o A 2,011,064 2,011,964 0
EARE SRS 0 0 0
B E BT a5 0 0 0
IRERMIE S Hhie RS 0 0 0
SHMmiER T 0 0 0
LERRR EIERAR A 2,011,964 2,011,964 0
2. EEIMEBRDED
(1) BEIMNNE
Y SISERE 0 0 0
EEIMNNZSET 0 0 0
(2) EENEH
Y SIEIEREH 0 0 0
FEEREt 0 0 0
LERRR EIMERER 0 0 0
fit=stiEEEE 0 0 0
EABL, ERFNOSEER 0 0 0
L HR—AR IEDRBA EE IR EE A 2,011,964 2,011,964 0
—HRIEKEAER SRS 0 0
—ARIEBREAEE IR R S A 2,011,964 2,011,964 0
IETE IEARBAEE IR DED
SEEEIESE 0 0
. . . . . O O
—RRIEBRBAEE N DIREZE 0 0
L HBIETE \EDRBA EE S Rk EE 0 0 0
IETE ERBIER R RS 0 0
IBTE EABAEE IR R = 0 0 0
N ES T A 2,011,964 2,011,964 0




